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Transformational Geometry Worksheet 
 
Tasks 1a + 1b 
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Which sequence of transformations carries AKL� '\W � '(.J\£i 
A) reflection over the -axis and translation 2 units down
B) reflection ov r {l.1e y-axis and translation 2 units down r \ 

(g)translation 2 units down and 90° rotation about the origin �OS 1' Ot' 1\v\ 
D) translatio 12 units right and 90° rotation about the origin � �tvtSC 
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Task#2 

AABC is rotated 90° clockwise about the origin to form ADEF. ADEF is transformed by a 
dilation centered at the origin, with scale factor 4. The result is AQRS. (You may use the space 

"

below.) 

Part 1: What parts of AQE,.S are congruent to the corresponding parts of AABC? Explain your 
reasoning. 

lt\o__- --tf'it>."jls- a.«-- srrni\o-r 'bv+- � si-z..e. of 
� CNre- jvs-\- d,�� .. 

Part 2: What is the relationship between the perimeter of AQRS and AABC? Explain your 
reasoning. 
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Task#2 

AABC is rotated 90° clockwise about the origin to form ADEF. ADEF is transformed by a dilation centered at the origin, with scale factor 4. The result is AQRS. (You may use the space below.) 
Part 1� What parts of AQRS. are congruent to the corre�.P. ,ondfn�pa�s-��f AA�C? E�plain your , 1 reasonmg. :Jk. O.\ l'j\t ,(Y\Q..Cl "vlAfQ 0 ,:;
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Part 2: What is the relationship between the perimeter of AQRS and AABC? Explain your reasoning. -rhL ., {�pJ-L,0th',f �� ju'5t +n0t+ � ()Q..,,\()ta . .+(,
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